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CEOEY 16,189,859 16,821,341 AB31,482
2 35,563
2 2,745,000
[ 41,074
Al 10,568,222
X 2,800,000
caAsze 14,702,000 14,880,000 A 178,000
2 2,745,000
Al 9,157,000
% 2,800,000
2 hE - EE 10,400,000 7,200,000 3,200,000
2 2,300,000
Al 5,300,000
% 2,800,000
Sascz 500,000 3,000,000 2,500,000
401 A& B2 S0 500,000 3,000,000 2,500,000
01 Al&H 496,400 2,785,800 2,289,400
deEascE YA 496,400
03 Al & 2 CHH 3,600 7,200 A3,600
ogsssca e 3,600
M2 (N2 RN S AAIDFK] )& A 500,000 1,000,000 A500,000
401 A& H| Y S 0HY| 500,000 1,000,000 A500,000
01 Al&H] 496,400 993,700 A497,300
0REZ BHE 496,400
03 Al & 2 HH 3,600 6,300 A2,700
CEYSERET 3,600
M= |0 YR sE 1,000,000 2,000,000 1,000,000
401 Al A B2 S OHY| 1,000,000 2,000,000 1,000,000
01 Al&H 993,700 1,992,800 A999, 100
O=X= |0 Y2 &= 993,700
03 Al 2 THH 6,300 7,200 A900
O=FZT IC MY =3 6,300
DN (SRR~ DAL R]) B 2,800,000 0 2,800,000
Xl 2,800,000
401 Al A B2 S 0HY| 2,800,000 0 2,800,000
X 2,800,000
01 Al&H 2,790,000 0 2,790,000
O DN (ENZE~CHHDAIHE]) BHE 2,790,000
X 2,790,000
03 Al& 2 HH 10,000 0 10,000
OZXDNZ (ERZE~OHHDAIHE) & 10,000
X 10,000
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401 Al HI L2 THY] 1,000,000 0 1,000,000
01 Al £ H| 993,700 0 993,700
OSLAYS~-SHIID CE22F 993,700
03 Al&2 =Tt 6,300 0 6,300
OZLNYS~-SAHDIID T2 6,300
S0t 288 YBEY 4,600,000 0 4,600,000
= 2,300,000
Al 2,300,000
401 Al HIL 2 THY] 4,600,000 0 4,600,000
= 2,300,000
Al 2,300,000
01 Al£ | 4,588,000 0 4,588,000
ONFH =2 =7 4,588,000
= 2,300,000
Al 2,288,000
03 Al & 2 CHH 12,000 0 12,000
ORFH 52 =7 12,000
ZEOH RIEE Ha 2,000,000 2,500,000 500,000
S2A TN I A 2,000,000 2,500,000 500,000
401 Al SHIL 2O H| 2,000,000 2,500,000 500,000
01 Al& tl 1,993,000 2,491,000 498,000
S22 UM SIEZ HE 1,993,000
03 Al & 2 CHH 7,000 9,000 £2,000
OS8R ZEUH RITE Ha 7,000
SEANES Y 2 2 1,090,000 2,808,000 A 1,718,000
= 445,000
Al 645,000
DEND ABEE RENHS 600,000 376,000 224,000
= 300,000
Al 300,000
401 Al H L2 THY| 600,000 376,000 224,000
= 300,000
Al 300,000
01 Al £ H| 597,000 373,300 223,700
OWEAD ABEE ZEMA 597,000
= 300,000
Al 297,000
03 Al& = T4t 3,000 2,700 300
OREMD ABEE BENRM 3,000
CEROHHEXNE FHlIAY 100,000 500,000 400,000
401 Al HI L LR 100,000 500,000 400,000
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01 Al & HI 99, 100 496,400 397,300
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03 Al & 2 CHHI 900 3,600 £2,700
OZZOHHEX B | AL 900
DEAD B R N 90,000 132,000 £42,000
= 45,000
Al 45,000
401 A& L S THY| 90,000 132,000 A42,000
= 45,000
Al 45,000
01 A&t 90,000 132,000 £42,000
OLSAD ®S R HA 90,000
3 45,000
Al 45,000
AYNAE SWDGE LK 200,000 200,000 0
= 100,000
Al 100,000
401 A& L S THY| 200,000 200,000 0
= 100,000
Al 100,000
01 A&t 199,000 200,000 A1,000
OVYNXE SIHWINE &K 199,000
3 100,000
Al 99,000
03 Al & 2 OHHI 1,000 0 1,000
OVYNAE WDE M| 1,000
ADCHERIS S22l &1 100,000 0 100,000
401 Al LS THY] 100,000 0 100,000
01 Al &t 99, 100 0 99, 100
OADCHE XIS S22/ LR 99, 100
03 Al & 2 CHHI 900 0 900
OADCHEXIS S22 &R 900
SHEE ETAE 150,000 200,000 50,000
U AT Y WEAMD LN IS a4 100,000 100,000 0
401 A& LS THY| 100,000 100,000 0
01 Al &t 99, 100 99, 100 0
OB/ AN ¥ WEAMD LN IHES
aA 99, 100
03 Al & bl 900 900 0
OB/ AN ¥ WEAMD LN IHES
oA 900
NOHRHE L EBHY ESHA 50,000 100,000 50,000
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01 Al &t 50,000 99, 100 A49,100
ONBIE L HE ZEHA 50,000
cRFNY 1,000,000 1,000,000 0
ASTHA DIZEX 243 1,000,000 1,000,000 0
401 A& 2 2 0H | 1,000,000 1,000,000 0
01 Al &t 1,000,000 1,000,000 0
OALIA DISEX B4 1,000,000
RN olg 2as 62,000 1,172,000 A 1,110,000
MEE TEIED| 2435 2,000 2,000 0
203 2 REAY| 2,000 2,000 0
03 Al B =7 o 2 A Y| 2,000 2,000 0
O 20 A2EA 2,000
HMEA GEHMBEOIE 2LX| 2 30,000 30,000 0
307 BI2+0| & 30,000 30,000 0
02 QABABE 30,000 30,000 0
OFZAl MTAHMBEOS 2 30,000
RNEN SO LXK L "y 30,000 0 30,000
401 Al B2 2 T 30,000 0 30,000
01 Al & 8] 30,000 0 30,000
ONEIN 2B £X L | 30,000
WeHHa 22l M 2= 403,015 356,497 46,518
23 35,563
= 41,074
Al 326,378
T ok & 22| 127,298 90,256 37,042
2 27,499
= 22,749
Al 77,050
THLHOHE orpp ohE A 54,998 34,256 20,742
2 27,499
= 13,749
Al 13,750
101 Q1218 18,480 11,520 6,960
2 9,240
= 4,620
Al 4,620
04 JIZH2R RS S S 18,480 11,520 6,960
OTHLHOHA o)} OrE2i A 18,480
23 9,240
= 4,620
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SA: SROIAD
ZE: Mol 2el A 2=
s eI Rl (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
< 978
Al 2,280
12 J|EtE2 43 13,800 14,700 A900
ouegAuWE &I A=< 13,800
& 4,140
Al 9,660
405 Kt S H| 1,800 1,800 0
= 540
Al 1,260
01 At =S H S| 1,800 1,800 0
ORERAWEEH JINM &= 1,800
= 540
Al 1,260
QIR HIOlAld &EHl & oHa 28,000 0 28,000
& 8,000
Al 20,000
401 AlEHIZ 2 OHYI 28,000 0 28,000
& 8,000
Al 20,000
01 A& HI 28,000 0 28,000
ORI HIIAlE &Yl ¥ JHA 28,000
= 8,000
Al 20,000
olgl= sdXI& 100,000 79,000 21,000
308 AtXIEHM S 01 20,000 19,000 1,000
07 it 2= XABHEX 20,000 19,000 1,000
otz s4XIA 10,000
OXNZEU AIRA 23| 10,000
403 XXM S K201 M 80,000 60,000 20,000
QB UbIZsdXNIANE2EER 80,000 60,000 20,000
ogxxNd 2 S 80,000
Bo2LQY BAZ NV 98,233 98,233 0
301 B2 A= 98,238 98,238 0
09 SU2RRALL S 98,238 98,238 0
o== 97,5003 »27E «12& 31,590
O=4ldl 5,000 x27 B x21 x 123 34,020
O =l 2,0003x27H 21«12 13,608
O1ul=tl 100,000& «27H 2,700
O34 X ZH| 400,0003 +12& 4,800
OHM=EAS 960,000& = 12& 11,520
HHSAPH(SZONDY) 84,844 84,844 0
Jl2dH(E2 X 1) 84,844 84,844 0




SA 2ot
B WHSAPY(SRUAD)
el J2ZH(=2 ) (ehel: =3
SA - EHM SR (BH) - MRAMY - BES 01l &4 24 e {imE=Eh
Jl2dtl(E2erA ) 84,844 84,844 0
201 L2 59,524 59,524 0
01 AtR 22l 38,960 38,960 0
Ogtt+==H| 16,000
OFRAE & MNE 2,800
CEERR 2,380
o=l 15,120
OSXNHE 22A =4 2,660
02 32244 20,564 20,564 0
0Z232= ¥ HAl 20,564
202 44l 21,120 21,120 0
01 S LHAbI 21,120 21,120 0
O=LH0dHl 21,120
203 SR =& 4,200 4,200 0
04 EM2E 2= 4,200 4,200 0
ORAN2IHRFLHI 350,000 «128 4,200
THoll & TH: one 1,000,000 1,500,000 500,000
UWEHHXES(=2HE D) 1,000,000 1,500,000 500,000
Metzteldlg X 1,000,000 1,500,000 500,000
2 JI=sdES 1,000,000 1,500,000 500,000
O1JI=dE= 1,000,000 1,500,000 A500,000
Ot Il=g K& 1,000,000




